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i) General Awareness

India’s first-ever Floating Basketball
Court has opened-near which city ?

(A) Kochi

(B) Assam
(C) Mumbai
(D) Hyderabad

Which State Cabinet has approved
India’s first Sports University ?

(A) Odisha
(B) Kolkata
(C) Delhi

(D) Tamil Nadu

The original Constitution of India was
handwritten by

(A) Rabindranath Tagore

(B) B. R. Ambedkar

(C) K. Munshi

(D) Prem Behari Narain Raizada

Which Union Ministry has launched an
Automated Real Time Performance
Smart-board ?

(A) Ministry of Aviation
(B) Ministry of Defence
(C) Ministry of Environment

(D) Ministry of Electronics and
Information Technology

The Theory of Relativity was developed
by

(A) Blaise Pascal

(B) Albert Einstein

(C) Stephen Hawking

(D) Thomas Alva Edison

B.

10.

Which State has become the India’s
third State to ban certain categories of
pan masala ?

(A) Rajasthan

(B) Bihar

(C) Maharashtra
(D) Madhya Pradesh

Hypertension is the term used for
(A) Decrease in Blood Pressure
(B) Increase in Blood Pressure
(C) Decrease in Heart Rate

(D) Increase in Heart Rate

Which Union Ministry has instituted the
Vayoshreshtha Samman — 2019 ?

(A) Ministry of Diaspora Affairs
(B) Ministry of Environment

(C) Ministry of Social Justice and
Empowerment

(D) Ministry of Finance

Which Union Ministry has launched the
Audio Odigos App ?

(A) Ministry of Tourism

(B) Ministry of Social Justice and
Empowerment

(C)

Ministry of Human Resource
Development

(D) Ministry of Culture

What does the term ‘Lunar Apogee’
means ?

(A) Pointin the lunar orbit farthest from
the Earth
(B)

Point in the earth’s orbit that
intersects with lunar orbit

(C)

(D)

Point in the lunar orbit nearest to
the Earth

None of the above
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12.

13.

14.

15.

Which bank has signed MoU with Indian
Army for customised services ?

(A) State Bank of India
(B) Bank of Baroda

(C) Bank of India

(D) Punjab National Bank

Where is Westphalia located ?
(A) Germany

(B) Sweden

(C) Denmark

(D) Iceland

The Indian National Flag was designed
by

(A) Alluri Sitarama Raju

(B) Pattabhi Sitaramayya

(C) Pingali Venkayya

(D) U. Narasimha Reddy

The name of P.C. Mahalanobis is
special in the Indian Economy. He was
associated with

(A) Liberalisation of Indian Economy
(B) Five Year Plans

(C) Reserve Bank of India

(D) Public Distribution System

The Bhakra Nangal Dam is built in which
river ?

(A) Beas

(B) Sutlej

(C) Ravi

(D) Jhelum

16.

17.

18.

19.

20.

What is the theme of the 2019 edition
of World Space Week (WSW) ?

(A) Exploring New Worlds in Space
(B) Exploring the Black Hole

(C) The Moon : Gateway to the Stars
(D) Space War

Which among the following is the first
country to issue research licenses for
human embryonic cloning to create
stem celis ?

(A) United States

(B) Japan

(C) China

(D) United Kingdom

Robusta, Singapuri, Giant Governor

and Mortman are varieties of which of
the following ?

(A) Coffee
(B) Cotton
(C) Apple

(D) Banana

Who among the following was the first
Tirthankar of Jainism ?

(A) Vardhamana Mahavira
(B) Parshwanath

(C) Rishabhanatha

(D) Sambavanath

Who is the author of the book ‘Clash of
Civilisations’ ?

(A) Francis Fukuyama

(B) Samuel P. Huntington

(C) Tarek Fatah

(D) Amartya Sen
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ii) General Intelligence and Reasoning Ability

Seven persons Paul, Queen, Rax,
Sam, Tom, Unif and Vali are sitting in a
row facing us. Rax and Sam sit next to
each other. There must be exactly four
persons between Queen and Vali. Sam
sits to the immediate right of Queen. If
Paul and Tom are separated exactly
by two persons, then who sits to the
immediate left of Vali ?

(A) Paul

(B) Tom

(C) Unif

(D) Rax

A person travels a distance of 7 km
towards East from his house, then
travels 7 km towards North and then a
distance of 7 km towards East and then
a distance of 7 km towards North. What

is the vertical distance travelled by him ? -

(A) 28
(B) 21
C) 14
(D) 7

P, Q, R, S and T sit around a table.
P sits two seats to the left of R and Q
sits two seats to the right of R. If S sits
in between Q and R, who sits to the
immediate right of P ?

(A) T
(B) S
€) Q
(D) R

24.

29,

26.

A man said to a lady, “Your mother’s
husband’s sister is my aunt”. How is the
lady related to the man ?

(A) Daughter

(B) Granddaughter
(C) Mother

(D) Sister

Mr. Pawar travels 10 km towards West
and turns right to travel 4 km. Now he
turns right and travels 7 km. In which
direction is he now with respect to the
starting position ?

(A) South — East

(B) South — West

(C) North — East

(D) North — West

Which of the given conclusions definitely
follows from the given statements ?

Statements :

All footballers are short.

Sonu is short.

Conclusions :

|. Sonuis a footballer.

Il. Sonu is not footballer.

(A) Only conclusion | follows
(B) Only conclusion Il follows
(C) Either | or Il follows

(D) Both | and Il follows
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27. A + B means A is the son of B.

28.

29.

A — B means A is the daughter of B.
A x B means A is the father of B.
A = B means A is the mother of B.

fMxN+O-P=+Q, then how is M
related to Q ?

(A) Husband

(B) Cousin

(C) Brother-in-law

(D) Uncle

Statements :

S<T=0=R

T<V

Conclusions :

. R<S

II. T>R

(A) Either conclusion | or Il is true
(B) Only conclusion | is true
(C) Only conclusion Il is true

(D) Both conclusion | and Il are true

Starting from his house, Sachin walks
a distance of 8 m towards North, then
he turns left and walks 6 m, then walks
3 m towards South and finally travels
6 m towards West to reach his office.
What is the distance between his house ?
(A) 5m

(B) 18 m

C) 7m

(D) 283 m

30.

31.

32.

33.

P, Q, R, S and T are five speakers who
have to speak on a particular day, not
necessarily in the same order. R is
neither the first nor the last speaker.
There are three speakers after S and
three speakers ahead of T. If P speaks
after Q, then who is the last speaker to
speak ?
(A) S

C) P

B) T
(D) Q

Robin says, “If Jai gives me ¥ 40, he will
have half as much as Atul, but if Atul
gives me T 40, then the three of us will
all have the same amount.” What is the
total amount of money that Robin, Jai
and Atul have between them ?

(A) T 240 (B) ¥ 320

(C) X 360 (D) ¥ 420

If in a code language, PAINT is written
as 74128 and EXCEL is written as
93596, then how will ACCEPT be
written in that language ?

(A) 455978

(B) 544978

(C) 554978

(D) 733961

In a row of 40 boys facing the North,
Amar is 6" to the right of Sandeep and
Sandeep is 11 to the left of Vijay. If
Amar is 28" from the right end of the
row, what is the position of Vijay from'
the left end of the row ?
(A) 17th

(C) 20t

(B) 21st
(D) 18th
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MKG-XXVIIITECHBABT/1T/02

P, Q, R, S 3 T ufe = & S o faw
T aea e sl i sdftsm A IR
T R e g g R | S FHuR I
TR T AR TATEA A Il &l P Q Ha1G

A 2 dr s TR R ?
(A) S B) T
C) P (D) Q

UM Feare “aesa g T403me @
IGF U g A Y I AN, wg Il
HIA G T 40 <1 7, A1 &9 Al & U™
T i et | feH, 519 3 I1gd
o Rt i 2 7
(A) T240 °

(C) %360

(B) %320
(D) % 420

Ife Wk e AT H, PAINT =1 74128
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(C) 20df (D) 184t
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34.

35.

36.
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A’s father's mother in law’s only
daughter’s son is B. How is A related
toB ?

(A) Brother

(B) Sister

(C) Niece

(D) Cannot be determined

Which of the given conclusions definitely
follows from the given statements ?
Statement :

Morning walks are good for health.
Conclusions :

I. All healthy people go for morning
walks.

Il. Evening walks are harmful.
(A) Only conclusion | follows
(B) Only conclusion Il follows
(C) Either | or Il follows

(D) Neither | nor Il follows

Which of the given conclusions definitely
follows from the given statements ?

Statements :

Some pens are cows.

All dogs are pens.
Conclusions :

I. Some dogs are cows.

Il. Some cows are dogs.

(A) Only | follows

(B) Only conclusion Il follows
(C) Either | or Il follows

(D) Neither | nor Il follows

T OO0 00

37.

38.

39.

40.

Amit is ranked 12 from the top and Ravi
is ranked 15% from the bottom in a class of
35 students. How many students are there
between Amit and Ravi ?

(A) 8

(B) 9

(C) 6

(D) 7

The number 729 is the square of which
of the following numbers ?

(A) 20

(B) 22

(C) 25

(D) 27

How many sets of two letters have
as many letters between them as in

the alphabetical order in the word
ARISTOCRAT ?

(A) 1
(B) 2
(C) 3
(D) 4
A printer numbers the pages of a book
starting with 1 and uses 3189 digits in

all. How many pages does the book
have ?

(A) 1000
(B) 1074
(C) 1075
(D) 1080
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A F R AN Y 12 a2 TI AR
¥ 153 &1 e 8 et Toremeff 35 &1 <7 3l
o % sfre T feremeff % 2

(A) 8
(B) 9
(C) 6
D) 7

729 Tg ge feferfaa w8 T e s ot
g7

(A) 20

(B) 22

(C) 25

(D) 27

ARISTOCRAT ¥Is< 2 378K o W fehe
e & forrep ofte o ik 3o & o1er & i
S AT E ?

(A) 1

(B) 2

€) 3

(D) 4

T et 1 & IE o Tk Joaoh o T=1 |
T gfad e & 3K 3189 3T &1 WM
el | g B R s € ¢

(A) 1000

(B) 1074

(C) 1075

(D) 1080
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41.

42.

43.

44.
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iif) Arithmetical and Numerical Ability

If sina + sinp + siny = 3, then the value
of cot‘y+cotE+cotlis
= 2 2

(A) 0
©) 2

(B) 1
(D) 3

10 years ago, the average age of the
family of 4 members was 24 years. Two
children have been born. The average
age of the family is same today. The
present age of two children assuming
that children’s age differ by 2 years
are

(A) 2years and 4 years

(B) 3years and 5 years

(C) 3yearsand 1 year

(D) none of these

The longest side of a triangle is 3 times
the shortest side and the third side is
2 cm shorter than the longest side. If
the perimeter of the triangle is atleast
61 cm, then the minimum length of the
shortest side is

(A) 10cm
(C) 9cm

(B) 8cm
(D) 7cm

The sum of n terms of an arithmetic
progression is 5n2 + 2n. Then the nt
term of the series is

(A) 10n+5
(B) 10n-3
(C) 5n-—1
(D) 5n-2

45.

46.

47.

48.

49.

50.

An integer exceeds its reciprocal by
143 | then the integer is

12
(A) 6 (B) =12
(C) 12 (D) -6

3 consecutive natural numbers are such
that the square of the middle number
exceeds the difference of the squares
of other two by 96. The 3 numbers are

(A) 12,13,14  (B) 11,12, 13
(C) 10,11,12 (D) 25,26,27

The maximum value of 3—| 2x—1 | is
(A) o (B) 3
(C) -3 (D) 0

In a polygon, the sum of the interior
angle is 1980°. The number of sides of
the polygon is
(A) 12
(C) 14

(B) 13
(D) 10

The recurring decimal 0.2313131 ......
can be written in the rational fraction
form as

231 2313
= B ==
100 1000
229 231
o B ==
©) 990 ©) 900

The least number which when divided -
by 12, 18 and 33 leaves a remainder of
5 in each case is

(A) 394
(C) 391

(B) 396
(D) 401



41.

42.

43.
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iii) STRTITOTH I UE HEATeRs: qraat

I sino. + sinp + siny = 3, @I
p Y

cot%+cot§+cot§ FHAAS

(A) O

) 2

(B) 1
(D) 3
1039 94, 4 T&E1 o IRER 6 3fad 31y

24 99 off | Tt F=4 3R Ya1 gU wRaw A
aftaa o1y ot oft I } | SF1 sl

3y 2 7 1 S A gu A w A |

FAHH 3G B

(A) 234 3R 4 99

(B) 3993598

(C) 3a¥ M 1ad

(D) ¥ @ iE T

s Pyt it Tad el o gad Bt g
| 37on s § | SR et o Tl et
S ¥ 2 om B & | 3 Bigst it afemo

61 cm &1, A Tl BIE YTl hi = wiarg
2

(A) 10cm (B) 8cm

(C) 9cm (D) 7cm

T THIGT F0ft & 0GR AM 502 + 2n §,
A @A HF N A G E

(A) 10n+5
(B) 10n-3
(C) 5n-1
(D) 5n-2

45.

46.

47.

48.

49.

50.

o e o e & 143 i d, A

Tﬁaﬁ% 12
(A) 6 (B) —12
(€) 12 (D) —6
3 SRHTITA JTehfcieh TEITd 50 TR & foh Hea
A1 1 T 37 a1 G131 & 91 o 3Tl
Y 96 2ftrh § | i g €
(A) 12,13,14 (B) 11,12, 13
(C) 10,11,12 (D) 25,26, 27
3—|2x—1 | AHHAA &
(A) » (B) 3
(C) -3 (D) 0
U SEY H, 37d: FHIVI H1 AN 1980° &l
TS I SISl ) we @
(A) 12 (B) 13
(C) 14 (D) 10
T eIed 0.2313131 ... S qie™
o= g FHeqd faEd g |
231 2313
(A) 80 (B) s
229 231
(C) = - (D) 506
I8 SId1 ° 919 e @ 12, 18 3 33
Y fonfora 8 WS IR A9 5 F=ar B
(A) 394 (B) 396
(C) 391 (D) 401
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51.

52.

53.

54.

55.

(10.23)° -(4.77)°

VaNe ol (0237 + (6777 + (10234 77)

is

(A) 15

(B) 5.46

(C) 10.23

(D) none of these

A ladder is placed against a wall of
height 18 m. If the top of the ladder
makes an angle of 60° with the wall,
then the length of the ladder is

(A) 36m (B) 124/3m
(C) 18V3m (D) 48 m

How many kilograms of pure groundnut
oil should be added to 20 kgs of 80%
pure groundnut oil, so that the resulting
mixture contain 95% pure groundnut oil ?

(A) 80kg
(B) 66 kg
(C) 60 kg
(D) none of these

If x + 4, 6x — 2 and 9x — 4 are three
consecutive terms of an arithmetic
progression, then x =

(A) 2
(C) 6

(B) 4
D) 8

The HCF of 2 numbers is equal their LCM,
then the numbers must be

(A) prime

(B) co-prime

(C) equal

(D) none of these

D0 0 0 I DD O

56.

57.

58.

59.

60.

A man buys an article for Rs. p and sells
it for Rs. 21 at loss of p%. The value of
pis

(A) Rs.10o0rRs. 80

(B) Rs.30orRs. 70

(C) Rs.50o0rRs. 60

(D) None of these

The circum radius of an equilateral
triangle whose side is 9 cm is

(A) 3J3cm
sf

(B) =X= cm

(C) J§ cm
33

—-—Cm

(D)

A person gets Rs. 1,216 more when
selling a product at a profit of 15%
instead of a loss of 4%. What would be
the percentage profit/loss if it is sold for
Rs. 7,552 ?

(A) 22

(B) 19

(C) 18

(D) none of these

Find the odd number out.

(A) 3 (B) 9

(C) 15 (D) 17

If X2 — 9x — 36 is negative, then range
of x is

(A) (=3,12)
C) (-12,3)

(B) [-3,12]
(D) [-12, 3]
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53.

54.

55.
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(10.23)° - (4.77)° 3
(10.23) + (4.77) +(10.23)(4.77)
(A) 15
(B) 5.46
(C) 10.23

(D) T @ =IE e

s Hidt F 18 m Il T daR F "
wel forar g | afe didt = i e s oy
60° =T SHIVT FTAT &, A Hidt 6 TS 2

(A) 36m (B) 124/3m

(C) 18V3m (D) 48 m

20 Teraitm il 80% Y6 HThelt o aat |
fora forctiome Jireeft w1 o e sme
afer afcomrst fsron § 95% 16 Whett 1
da 7

(A) 80 ..

(B) 66 for.am.

(C) 60 f.mm.

(D) FHH A g e
Hﬁx+4,6x—2aﬁ19x~4¢ﬁmﬁuﬁ
&I PTI98 &, W x =

(A) 2 (B) 4

(C) 6 (D) 8

2 TEAA! 1 HHY 38 6 & ST B,
g BT TR |

(A) 31T

(B) 3R

(C) SR

(D) T & g T

56.

57.

58.

59.

60.
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T AR U o W p % § @leR [
21 %. o S=ar ® 3R p% B 33@m R |
th‘HTFI'%

(A) ¥ 10ATE. 80
(B) & 30AT%. 70
(C) % 5031%. 60

(D) T & IS e

us gusg Brgs < aftBren et g
9cme

(A) 3/3cm
(B) 3_;/_9 cm

©) V3 cm
3.3

(D) Tcm
Tk IS i 4% B ol 91 15% 1
W e § T I 1 1,216 &, AfH
T B & | Sfewra o/t Ak @
7,552%. 1 o€ ST ?

(A) 22

(B) 19

() 18

(D) T & i3 e
o v g |
(A) 3

(C) 15

(B) 9
(D) 17

Ife x2 — 9x —'36 SRUTCHS &, al x I Jofi &
(A) (-3,12) (B) [-8,12]

(C) (-12,3) (D) [-12,3]
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61.

62.

63.

65.
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iv) Hindi Language and Comprehension

&=t v i iy

(=) G Yok foee o1 S el g & 7
(A) TSI IT IET A h T W

(B) Tereft e =hl forerd @ 35 e STt
g

(C) Tal g aTd qUT 7 et sfra | e
Big &t 9Tt at

(D) SHH TANT sRISI 2Rl €31 o fore foma
ST ®

el v hagF@ A
gl

(A) 2,3,8,8
(B) ¥,%, <, d
(C) 9,9,9,9
(D) &,7, 9,4
Fraferftaa form et § s fame s
27

(A) “ 7
C) -

® ()

D) :-

it st vree foran 1 forivar s &,
3¢ T HEd & 7

(A) T faemon

(B) Targmyur

(C) fawrs

(D) T A i3 T

‘o’ fFg T Yse ® 7
(A) 3§ (B) fe=d
(C) =t (D) ¥&FHd

66.

67.

68.

69.

70.

TEETE G % fohed TR B ® 7
(A) & (B) =
(C) =W (D) uid

ot 1T o wwEd Tt < HHeE TE H
1 FEd & ¢

(A) SUiETT

(B) =

(C) =

(D) ¥ & g e

o= forett =1 wyma ot w g 2, 39
[ERIE TR

(A) Geteh TR

(B) ThHeh fora

(C) umedss T

(D) T foram

ATST <61 el B SIS
(A) &
(B) =&SH
(C) 3m
(D) &

‘e’ a1l o ST o F1 el STl g 7
(A) &=

(B) S

(C)

(D) @<=

7




71.

T2.

73.

74.

75.

AT

TR F3RE e ¥ VTR Pl o e & 7
(A) Gl
B) feds
(C) T

(D) 3 8 I3

@ et Pt asg s aw Tdidan e,
E2| FEd ¢ |

(A) Tistarae gdam

(B) Tv=areds gaam

(C) SAv=RET=® qda™

(D) FrEEETES FaH

(;) 31 form fareg =1 v et fora ST

27

(A) el e 9t 3 fore s BT @

(B) SHH1 ST 1R <hi quidT W BT &

(C) &l sreaferm i garn | Fo Al
AT BT &

(D) T & g e

T3 o sgeafsr o Bl & 7

(A) a1q (B) &

(C) TI™ (D) 3 A IS T
o wnatt & fre-for s wneles &1, 32
Fed ¢ | ‘
(A) &g uqE

(C) dmTEg

(B) Hfieh
(D) T & IS &

76

7.

78.

79.

80.
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. Torelt oft w1 & S d SRaTe awg
1Y I FATHEA & 7

(A) &=
(C) W

(B) @
(D) ferant

T T &1 afe U @e o B,

ol % a1 foruen wa AE BT 7
(A) I (B) 4
(C) | (D) ®

o wrsei @ foredt woft, wared @ @y i
s 1 st 2 8, 34 1
FEl

(A) Siifqarae

(B) fdrar=eh

(C) wigaT=H

(D) 37 @ hrg e

caftl 3 STUR T H1 % fohed WG & 7
(A) & (B) oM
(C) ¥R (D) 9=

T T B2 |
@

(B) whfer

(C) 3w fom

(D) T @ IS 7
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v) English Language and Comprehension

3T wren e Ay

Choose the wrongly spelt word from the
following choices and mark its corresponding
letter as your answer.

(A)
(B)
(©)
(D)

(A)
(B)
(C)
(D)
Add suitable quesﬁon tags to the following

statements from among the choices given
below them.

DETERIORATION
UNNECESARY
ANNOUNCE
PREOCCUPATION

81.

82. QUESTIONAIRE
REVENGE
ACHIEVEMENT

DISTINGUISHED

83. Tuffy won't stop eating millet, ?
(A) won’'t he (B) will he
(C) isn’t he (D) had he
84. Rioters shouldn’t disturb commuters,
?
(A) hadn't they
(B) will they
(C) shall they
(D) should they

Fill in the blanks in the following sentences
using the appropriate antonyms of the words
underlined.

85. He challenged that he would make the

achievement possible.
(A) unpossible (B) potential
(C) impossible (D) viable

-18-

86. The strengths and of the new
education system was listed out by the
students.

(A) weakness

(B) weaknesses
(C) failures

(D) persuasiveness

87. Though , he taught like an

experienced teacher.
(A) unexperienced

(B)
(©)
(D)

Fill in the blanks in the following sentences
using the appropriate forms of the words
given in brackets from among the choices
given below them.

veteraned
versed
inexperienced

88. We should know the (important)
of a well balanced diet.

(A) important
(B) importantly
(C) importance
(D) importness

89. Theywere involved in a heated

(argue).

(A) argue

(B) argument
(C) argumentative

(D) argufy



Fillin the blanks with appropriate prepositions
from among the choices given below them.

90. | have known Neina years.
(A) since (B) of
(C) for (D) from

91. Restthe ladder
you step on the rung.

(A) beneath (B) on
(C) ahead (D) against

92. You will have to go
to see the new house.

(A) towards

(B) until

(C) round

(D) of
Fill in the blanks with suitable articles from
among the choices given below them.

the wall before

the bend

93. Helivesin
from here.

(A) an
(B) the
(C) a
(D) none of these

second apartment

94. Zen owns
(A) a
(B) an
(C) the
(D) no article required

__BMW.

95. He spoke like
man.

(A) a
(C) an

enlightened

(B) that of
(D) the

-19-
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Choose one word substitute for the following
from among the choices given below them.

96. Confirming the receipt of something
(A) inspiration
(B) embarrassment
(C) destination
(D) acknowledgement

97. An intense or strong desire
(A) craving
(B) toxic
(C) mitigate
(D) paranoia

In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

98. The hermit unfastened the man.
(A) tied
(B) untied
(C) caught
(D) arrested

99. His family had gathered to wish him a
safe voyage.
(A) return
(C) journey

(B) landing
(D) stay

100. His mental disturbance was similar to

paranoia.

(A) sanity

(B) insanity
(C) restlessness
(D) depression
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101.

102.

108.

104.

105.
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00 0

SECTION-B
Post Specific Subject — Related Questions

An unpleasant feeling of fear that
something bad is about to happen is
termed as

(A) Anxiety (B) Phobia
(C) Compulsion (D) Obsession

Sensorimotor developmental stage is
between the age

(A) Birth -2 years
(B) 2—7 years
(C) 7—11 years
(D) 11 -15years

At which stage, the orientation should
be towards art as a medium of self
expression ?

(A) Pre-primary stage
(B) Primary stage

(C) Upper primary stage
(D) Secondary stage

The primary purpose of formative
assessment is to

(A) Focus on teaching
(B) Improve leaming
(C) Identify interest

(D) Assess capacities

Wundt described psychology as the
study of

(A) Conscious experience
(B) Unconscious experience
(C) Humanistic experience
(D) None of the above

106.

107.

108.

109.

110.

Choose the limitation of essay type
item.

(A)
(B)

Encouraging rote memory
Reducing the chance of spot
copying

Promoting originality and creative
thinking

Elimination of the possibility of
guess work

(©)

(D)

Which one of the following is the
characteristic of summative
assessment ?

(A) It doesn't tend to stress the effects
(B) Itis a descriptive analysis

(C) Itis non descriptive analysis

(D) All of the above

The Greek word “Psyche” means
(A) Mind (B) Science
(C) Body (D) Soul

Strategies to ensure quality in early
childhood care and education

(A) Advocacy

(B) Quality workforce

(C) Setting up norms and standards
(D) All of the above

John Watson is the founder of
school.

(A) Humanism

(B) Structuralism
(C) Gestalt school
(D) Behaviourism
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101.

102.

103.

104.

105.
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a - |
T wfatees A - gaft ugm

T T H A HEAT S FS T & el
€__  wEdwdie |

(A) faa (B) =

(C) smeal (D) ST

TR fasmmarerss =
F BT |

(A) S - 294

(B) 2—7a4

(C) 7-11ad

(D) 11—15a9

forg =@or ®, el 61 TR A U
TEnfieafae o HTeaw & w9 3§ gl =1ey ?

(A) T& - e =
(B) wrefires =won
(C) et Wifhes <o
(D) fecfiares =ur

AT STTher 1 T 3899 &
(A) TaTeor W e

(B) 31ewa H UR

(C) & ug=m

(D) &I ST HodTohA
ECEREIERICED T % ST
FEqH e |

(A) HeTH ST

(B) 3T I

(C) WM ¥

(D) 3 H ¥ 1S A&

106.

107.

108.

109.

110.
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e Wehr & wat =i Tim g |

(A) s wfd i sgmE 3

(B) A el h1 WTEHAT hl M

(C) Tiforehal &1 sigral &1 3T T=HTeHS
formam =t sgran &

(D) STETSIT ST hY HHTEAT ol BT
fr=fefaa d @ S-a1 awfie geame
1 Uh AT 8 7

(A) TE INTET W S ST i ggft T
TEdl

(B) TE aviATeneh faversor 2
(C) ¥& M—auirens; fargetyor
(D) 3% ai

e e “argehl’ w5 3rd B

(A) Tferss (B) fasm

(C) ¥R (D) e
IS et qEaTd R fna ®
e gifeed e i wHEifa

(A) TeHTeTd

(B) TTERT HRIEA

(C) Tom o wres fafor

(D) 3o &t

SR dicEd_ foemum s o g |
(A) HFEATETE

(B) @remEmE

(C) TreTee fa=mam

(D) HATEOER
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141

112.

113.

114.

115.
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Theimportantmethod usedin psychology
are

(A) Thematic method
(B) Subjective observation
(C) Experimental method
(D) None of the above

Which of these doesn’t include the
cognitive development ?

(A) Intellectual growth

(B) Development of language
(C) Development of emotions
(D) Development of concepts

is the developmental period
extending from birth to 18 or 24
months.

(A) Prenatal period
(B) Infancy

(C) Early childhood
(D) Adolescence

Teachers observe, listen and intervene
where necessary is an example of

(A) Collaborative learning
(B) Co-operative learing
(C) Cognitive learning
(D) All of the above

According to view, the aim
of education should be self-realisation
or unfolding of what is potential within
the child.

(A) Pragmatic
(C) ldealistic

(B) Naturalistic
(D) Universalism

116.

117.

118.

119.

120.

121.

learning is the mental process of
acquiring knowledge and understanding
through thought, experience and the
senses.

(A) Cognitive (B) Affective

(C) Psychosocial (D) Psychomotor

conditioning occurs when a
response to a stimulus is reinforced.

(A) Social (B) Operant
(C) Observational (D) Classical

Children’s psychological needs of
imagination and free expression is met
in which activity ?

(A) Singing (B) Drama
(C) Dance (D) Play
The holds information for

15 — 25 seconds.

(A) Sensory memory
(B) Short term memory
(C) Long term memory
(D) Storage memory

Mathematics should be visualised as
the vehicle to train a child to and
to articulate logically.

(A) Think

(B) Reason

(C) Analyse

(D) All of the above

is the ability to combine responses
or ideas in novel ways.

(A) Memory (B) Attitude
(C) Attention (D) Creativity
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114.
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AT # gad Wyt fafer 2
(A) Tosarma fafy

(B) =afFafss qdaequ

(C) S faftr

(D) Jad T ° IS T
frafafea @ @ frad gamTens fasm
e T 2 7

(A) sitfesh g

(B) w91 o1 ferepme

(C) wraaTi &1 farerme

(D) Heheud1 &1 fasra

S 18 U1 24 U8 d% (a&ETeas 3y
4

(A) S Safy
(B) Ty

(C) Wi dAcdehTel
(D) fersTrEEen

SR el STEveh aidl © 187 a@d &, Ad
2 3R TEd 3§, T ITTE 2 |

(A) TEanft ST
(B) HEshIl HeATd
(C) HIHTCHS eI
(D) I guft

g e rgEn, e sew
WE9E 1 T o it i d28i ! @i
e

(A) ARG
(C) 3Tevfaret

(B) wehfcrarel
(D) TR

116.

TUZ;

118.

119.

120.

121.
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STEAT FH I A 3
ITINE TR FHIAT 6 HTea § FHe
e i 2 |
(A) GIHTHS
(C) TEHIR

(B) TETcH
(D) W

ket e Il & e U g0
¥ gfafsran = gg R s 2 |

(A) G (B) Toram wga
(C) WWagnfm (D) wWE™

STETh! sl FHedAT i TR g Afvr=afa
= TS ATEFsHa g Bl €, e
BT/ |

(A) TRH (B) AeH

C) T (D) @

15 — 25 Yehe Teh g1 Tl 2 |
(A) THfsE wfa

(B) wrgariy wf

(C) ety wfd

(D) e Hyfd

TIfOTH 1 Teh STt %l 2 wRiféa
T 3T difehes 3Tfssafad & aEa H & H
AT 91T |

(A) |

(B) T

(C) fageiyur

(D) 3% ai

_ fafseamett an faemi =t Tuads
A et i qrar |
(A) Hfd (B) Wi

(C) &M & (D) TR
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122.

123.

124,

125.

126.

127.
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Inclusive Education is important for both
children with and without disabilities

(A) All children learn effectively

(B) ltis cost effective

(C) It contributes to inclusive societies
(D) All of the above

The inability to read small print is a
limitation of the ability of the individual.
It is termed as

(A) Visual disability

(B) Visual handicap

(C) Visual impairment

(D) None of the above

The success of non-formal models lies
on
(A) Theinitial interest level and motivation
of students

The quality of educational materials
capable of upholding a high student
motivation level

Both (A) and (B)

Interest level of teacher

(B)

(C)
(D)

is nothing but our likes and
dislikes towards certain stimulus.

(A) Motivation (B) Interest
(C) Perception (D) Thinking

Which one of the following factors
cannot produce temporary changes in

behaviour ?
(A) fatigue (B) illness
(C) drugs (D) entertainment

A longitudinal record of pupils’
educational history where progress
of the development pattern of each
student is recorded is termed as

(A) Evaluation record
(B) Cumulative record
(C) Appraisal record

(D) Assessment record

128.

129.

130.

131.

132.

133.

A 00O 0 00 00O OO O

Specific learning disorder with
impairment in reading processes such
as word recognition, decoding skills and
comprehension is called

(A) Dyscalculia (B) Dysgraphia
(C) Dyslexia (D) Autism

A child who finds difficulty to keep pace
with the normal school work is termed
as

(A) Physically challenged
(B) Differently abled

(C) Slow learner

(D) Intellectually challenged

is the assessment of overt and
covert dispositions of an individual.

(A) Personality test
(B) Aptitude test

(C) Intelligence test
(D) Achievement test

Gestalt therapy was developed by
(A) Aaron Beck

(B) Carl Rogers

(C) Sigmund Freud

(D) Frederich Perls

tests are also called as cognitive

tests.

(A) Accuracy (B) Fluency

(C) Ability (D) Validity

The main means of effective illustration
(A) Story

(B) Analogy

(C) Both (A) and (B)
(D) None of the above
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123.

124.
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gt fSve fesam srean greamor 3 &
=i o foTT HEcaqol 2

(A) |t e Tl &9 @ diad @

(B) I TR

(C) IE |HTasft gHTS § JEH <T@
(D) Fea |t

B YZUT 7 9 YT Ush A shl Jiadn Y
@gﬁ% |

FEd© |
(A) g fosamman
(B) g ferematm
(C) gt smerehar
(D) Jad H I IS T8

1 afrqaTiies Aigdl ot hadl
WEI

(A) iy ¥ T 3 faenfdai =1
icaTe

(B) U 3= faentef Wieame & AT @A
ﬁamﬁmmﬁ‘ﬁw

(C) (A) i (B)&HI
(D) Torerer =1 %f9 &

3R ¥ &, fad fed
e e
(A) SrcETEA (B) ®f=
(C) gfeeim (D) @
ffafga § @ F9-8 & Sqger |
STt gftad Icae TS W EFd © ¢
(A) UM (B) sl
(C) Mwfert (D) WA

farsi & et sfaem =1 e
S o i T
Y4 &t wfa =1 sifsreifaa foran Stan 2,
FHEdATd! 2l

(A) TR FAfEE
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Which of the following test is considered
as psychological test ?

(A) Achievement test

(B) Aptitude test

(C) Intelligence test

(D) Al of the above

The term amnesia means
(A) loss of memory

(B) loss of confidence
(C) loss of conscious

(D) all of the above

Any loss or abnormality in an anatomical
structure or a physiological or
psychological function is called

(A) Handicap (B) Disability
(C) Impairment (D) Disease

In depth study of a child or individual
over a limited period of time is called

(A) Counselling (B) Case study
(C) Case history (D) Case series

A painful emotional state, which results
from a tension between opposed and
contradictory wishes is

(A) Conflict
(B) Stress
(C) Anxiety
(D) None of the above

The National Policy of Education in the
year emphasized that education
play a positive role in correcting social
imbalance and in securing rightful place
for the disadvantaged .

(A) 1984 (B) 1985
(C) 1986 (D) 1987
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To manage the classroom climate one
should

(A) Establish ground rules

(B) Use icebreakers and collaborative
learning

Make efforts to connect with
students

All of the above

(C)

(D)

One of the following is not a qualitative
data collection method.

(A) Unstructured Interviews
(B) Focus Groups

(C) Observation

(D) Structured Questionnaire

The study of the relationship between
the physical aspects of stimuli and our
psychological experiences of them

(A) Perception
(B) Psychophysics
(C) Sensation

(D) Metaphysics

is the memory for events that
occur in a particular time, place or
context.

(A) Episodic memory
(B) Declarative memory
(C) Procedural memory
(D) Semantic memory

Intense, irrational fears of specific objects
or situations is called

(A) Phobia (B) Anxiety
(C) Panic (D) Obsession

How do people approach and solve
problems ?

(A) Preparation

(B) Production of solutions
(C) Both (A) and (B)

(D) Counselling
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The ability to come up with a variety of
ideas or solutions or techniques

(A) Sensitivity  (B) Flexibility
(C) Originality (D) Fluency

The Scheme of Integrated Education
for the Disabled Children (IEDC) was
started in the year

(A) 1971
(C) 1973

(B) 1972
(D) 1974

is the transition period from
childhood to adulthood.

(A) Early childhood
(B) Late childhood
(C) Adolescence

(D) None of the above

Itis defined as the element that appears
most frequently in a given set of
elements

(A) Mean
(C) Median

(B) Mode
(D) Range

The visual and performing art forms
should be taught in a fully integrated
manner at stage.

(A) Pre-primary
(B) Primary

(C) Upper primary
(D) Secondary

is the scientific study of
behaviour.

(A) Psychology (B) Sociology
(C) Anthropology (D) Zoology

The theory which is applied extensively
to the understanding of aggression and
psychological disorders

(A) Cognitive learning

(B) Social learning

(C) Motivation learning

(D) Cognitive social learning

153.
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The initial, momentary storage of
information, lasting only an instant is

(A) sensory memory
(B) short term memory
(C) long term memory
(D) storage memory

The central concept of operant
conditioning is
(A) Rethinking
(C) Recalling

(B) Reassociating
(D) Reinforcement

conditioning describes learning
that occurs as a result of reinforcement .

(A) Trial and error
(B) Operant
(C) Observational
(D) Classical

The skills of listening and reading are
called

(A) Speaking skills

(B) Writing skills

(C) Comprehension skills
(D) Expression skills

Art education should be aimed at
promoting self expression, creativity
and sense of freedom thus achieving

(A) Psychological health
(B) Social health

(C) Physical health

(D) None of the above

The limitation of Essay Type items
(A) Minimum validity

(B) Lack of reliability

(C) No objectivity

(D) All of the above
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One of the following is the merit of a
bilingual method

(A) Students are passive listeners
(B) It requires special trained teachers

(C) The method suits both rural and
urban schools

It does not emphasis on speech
practice

(D)

One of the following is not a type of
illustration

(A) Pictorial illustration
(B) Concrete illustration
(C) Verbal illustration -
(D) Non verbal illustration

One of the most effective way to teach
an occupational skill

(A) Synthetic method
(B) Demonstration method
(C) Lecture method
(D) Analytical method

According to Piaget's model on
development stages, the formal
operations begin at ages

(A) 3—7years

(B) 7— 11 years

(C) 11 —-15years

(D) 15 years and above

More or less permanent change in
behaviour because of practice or
exercise is termed as

(A) Learning

(B) Behavioural change
(C) Modification

(D) Stability

00 000 OO
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is the moral component of the
personality.

(A) Id

(B) Ego

(C) Superego

(D) All of the above

involves words as stimuli in
eliciting information about behaviour.

(A) Verbal test

(B) Physical test

(C) Diagnostic test
(D) None of the above

The founder of Psychoanalysis school
is

(A) J.B. Watson

(B) Clifford T. Morgan
(C) Sigmund Freud
(D) Kurt Lewin

A perception that doesn’t agree with the
factis called

(A) Insight

(B) Intelligence

(C) lllusion

(D) None of the above

A sudden flash of solution to the problem
is termed as

(A) Introspection (B) Insight
(C) Interview (D) Recapturing

Which one of these is the theory of
Guilford ?

(A) Structure of intellect
(B) Single factor

(C) Group factor

(D) Multifactor
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Which one of these is considered as a
group test ?

(A) Henmon-Nelson test

(B) Cognitive Abilities test

(C) California test of Mental Maturity
(D) All of the above

The subject is tested for his/her ability
to grasp, understand and react to a
given situation

(A) Memory test

(B) Vocabulary test
(C) Comprehension test
(D) Reasoning test

is required to manage
relationships with many people in the
desired direction.

(A) Social skill
(B) Self awareness
(C) Self regulation
(D) Empathy

is a task in which some item
must be produced from memory.

(A) Revising (B) Recalling
(C) Rewriting (D) Reading

A systematic inquiry aimed at the discovery
of new knowledge is called

(A) Retrieval (B) Retrospect

(C) Research (D) Reflect

Which one of the following is not the
internal factor of attention ?

(A) Interest (B) Mood
(C) Repetition (D) Habit

176.

LT,

178.

179.

180.
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What needs to be done to make
inclusive education a reality ?

(A) Introducing inclusive testing and
assessment

Providing teacher training for
inclusive education

Providing early childhood care and
education

All of the above

(B)

(©)

(D)

The ability to focus on a task is called
(A) attention (B) association
(C) attitude (D) aptitude

Children at this stage have a lot
of inquisitiveness and energy need
avenues to release their energy, by
involving in creative activities

(A) Pre-primary stage

(B) Higher primary stage
(C) Secondary stage

(D) Higher secondary stage

Any restriction or lack (resulting from
an impairment) of ability to perform an
activity in the manner or within the range
considered normal for a human being

(A) Handicap (B) Disability
(C) Disease (D) Impairment

It refers to a functional limitation of the
eye(s) or visual system due to a disorder
or disease that can result in a disability
or handicap

(A) Visual disability
(B) Visual handicap
(C) Visual impairment
(D) None of the above
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The term self-determination includes
based on an understanding of
one'’s abilities and related needs.

(A) Personal decision-making
(B) Self-advocacy
(C) Assertiveness
(D) All of the above

Impartial analysis and evaluation
conducted according to established
criteria to determine the acceptability,
merit or worth of an item

(A) Evaluation (B) Appraisal
(C) Measurement (D) Test

It implies that results of the research
study can be applicable to similar
situations or individuals

(A) Reliability (B) Validity
(C) Relevance (D) Transferability

“The widest road leading to the solution
of all our problems is education.” This
quote is by

(A) Vivekananda (B) Tagore
(C) Gandhiji (D) Sri Aurabindo

is the disability in the area of
mathematics.

(A) Dyscalculia

(B) Dysgraphia

(C) Dyslexia

(D) None of the above

The core value of early childhood
education lies in

(A) Child development
(B) Child centredness
(C) Child learning

(D) Child environment

187.

188.

189.

190.

191.
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education is a key lever for
sustainable development.

(A) Special
(B) Distance
(C) Quality
(D) None of the above

Knowledge of the nature of the pupil’s
intellect is of considerable value in the
guidance and the diagnosis of

(A) Handicap

(B) Disability

(C) Impairment

(D) None of the above

One of the following is not a principle of
education.

(A) Free education

(B) Craft centeredness
(C) Compulsory education
(D) Judgement

The most common source of quantitative
data includes

(A) Surveys

(B) Indepth interviews
(C) Participant observation
(D) Free listing

Observations during in class activities
is an example of

(A) Summative Assessment
(B) Formative Assessment
(C) Diagnostic Assessment
(D) Comprehensive Assessment
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The Convention of Rights of Persons
with Disabilities, 2006 reflect a shift
from a medical to model of
disability.

(A) Psycho-social

(B) Social

(C) Comprehensive

(D) None of the above

The double-edged instrument which can
eliminate the effects of socio-economic
inequalities but it can also introduce a
new kind of inequality is

(A) Knowledge (B) Education
(C) Power (D) Authority

The Scheme of Integrated Education for
the Disabled Children (IEDC) was started
with the objective of

(A) Provide educational opportunities to

all children with disabilities under the
general school system

Integrate children with disabilities
in the general education system
to enable them to become equally
contributing members of society

Eliminate disparities and equalize
educational opportunities

(D) Al of the above

(B)

(C)

In an younger child is the inability to
find a toy on a patterned carpet but
the ability to find it on a plain one is an
example of

(A) Cortically visually impaired
(B) Leucoma

(C) Retinitis

(D) Low vision

A0 5t

196.

197.

198.

199.

200.

are designed to test a person’s
preferences.

(A) Motivation test
(B) Attitude test
(C) Personality test
(D) Interest test

Some of the potential risks found among
visually impaired children include

(A) Hard to achieve friendships
(B) Hard to read

(C) Personal life may be less
empathic

(D) All of the above

The guiding principles of the Early
Childhood Care Education curriculum
are

(A)
(B)
(©)

Play as the basis of learning
Art as the basis of education

Recognition of the special features
of children’s thinking

(D) All of the above

The key element required to nurture
balanced development of children

(A) Knowledge (B) Skills
(C) Attitude (D) Al of the above

The apex body for curriculum related
matters for school education in India is

(A) The National Institute of Open
Schooling

The Council of Indian Schools

The National Council of Educational
Research and Training (NCERT)

Central Board for Secondary
Education

(B)
(&)

D)
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(A) SrcETeEd udieror

(B) Srgfer wieor
(C) =afdaca qdiamor
(D) ®f udigmon

gfee anferg aerent ® 9T S 9TR §59
gurrfer siiftam 3§ wfire 2

(A) Tt sm ¥ e

(B) e U HiSAT

(€) Tasht Sfram =m wwTgafaeh 21 ket &
(D) I Gt

IRIF TTegehTel @A f31er qresrsen
o1 Hrfes forgia @

(A) T HiEa 1 U 8

(B) e e 1 SMUR 2

(C) STk o Wi <1 Ty T[T g
(D) Jad Gsft

! ¥ wfer T ¥ e ¥q aifea
e qed &

(A) I (B) e

(C) waf (D) Jer @eft

T | e e 3 Tiewsn de qe
¥q v o 2

(A) T gar foermerd dem

(B) e forener ufteq

(C) T e argHe™ ud wfRigor it
(NCERT)

(D) s wreafies foven o
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This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O0®00

Wrong Method

w00

Wrong Method || Correct Method|

CeO00|0e00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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& YAT HYT H U H I 3R I 9w d
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